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PART - III
@umniwey / PHYSICS

(510 wpmidb Syl anf / Tamil & English Version)

00 wenfl GrHyw ] [ Qurés wHCueTser : 70

3.00 Hours | [ Maximum Marks : 70

(1) omarsg eamés@Epd slwursl udeard o darsm daTUSDATE

sflurisgs Qsrarerayb. Fsliudedd Gopulpuder, Sions
samsrasiuurariLb o L angurss Czflellésab.

feod g L HCWL  TPFHuUSDHGLD

<G &ECsTIE Heugd@Gh LuaTuBsSs CoauaT@b. ULRSH auamragnE
Quendled LweTUHSSELD.

(2) &s@muy ewullenen

(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

UGS - I /PAiz'r-I

SlemeNSH NaTESEERHGLD ellenL_Wefl&saLb. 15x1=15

Qar@ssliul_Berer wrpm el safled Blsad ghymLw el amws

Caib0sBh5515 GO HLer el ulamarb Carsg eripsayb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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80 f 2.wpapdrer @ sy s Guelmpg 1 8.6, wpmyb 2 &.4. Hepujerer
upgisaT CurLLL@APg. yelomw Crréd galerambd 40 B8 wbs 9DG
Sleupdlen @Quiss pppdsafer alHsb

(=) V2:1 (=) 1: 42 (@) 2:1 (FF) 1:2

A ball of mass 1 kg and another of mass 2 kg are dropped from a tall building
w_hose height is 80 m. After a fall of 40 m each towards earth, their respective
kinetic energies will be in the ratio of : '

(a) J2:1 b) 1:42 () 2:1 (dy 1:2

Qun@@mrr@gj-a;t'_q_l_gﬁeh &éﬁuﬂaﬂ@&,g} ECY lwdlpg. LQur@mer 4
cflenmiquile) samger s SieLHEMD Sligl sHen e wWrQedrer ? (SMHmG HevLeowiLs
Un&ssanilss) (2=9.8 ms—2) ‘ :

(1) 77.3 18 (<=1) 78.4 15 (@) 80.5 18 (rrj 79.2 8

If an object is dropped from the top of a building and it reaches the ground at
t=4 s, then the height of the building is : (ignoring air resistance) (g=9.8 ms ™2

(a) 77.3m b) 784m (c) 80.5m (d) 79.2m

safl erse) ety e fs ewrb Qaran. sl $Hd Apriise Liur Herer
Gurg, ffes si@a Qupdlowl Cure saelémsurar gearabd Gergyb
Qusssamg Copbasradpg. swlooliyaallambs 4 8 Asrarweld, sasd
Gamgen pHs&sworarg 16 ms~2 arafld @isen AamaaGCHL :

(1) 2s (=) 1s (&) 27 s (F) ws

A pendulum is hung in a very high building oscillates to and fro motion freely like
a simple harmonic oscillator. If the acceleration of the bob is 16 ms”z, at a
distance of 4 m from the mean position, then the time period is :

(@) 2s b) 1s A (¢) 2ws (d) =s
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4.

3

Yol ppid Garar geamler mitidwd whssmisd (peanGul g, wHHID g, Camefien
Hevn DHDID <D Lellenwts Guire) GmLrisrs earargl erefle :

e
(=) 8p =% (<2) 8, =28
_ Be
@) gr = 8e (TT') 8p = J2

g, and 8 denote the acceleration due to gravity in the Earth and a planet. The
mass and radius of the planet are twice that of the Earth. Then 2

g ,
() & =% B g=2e

' ' g
(© = » @ &=
3 4.8\ Blevmujerer 40 Q..15, < TId QEreRTL o erafl_Hp o everuiler 185 sulm e
sppLul Rerergl. suWin 30 N eleserw Caran® & WssUUBL Gurg 2 (Henerudlen
Gerent (pH&&SMG STewTE.
(1) 0.25rad s™2 (=) 25rads™? (@) Sms™? () 25 ms™2

A rope is wound around a hollow cylinder of mass 3 kg'and radius 40 cm: What is
the angular acceleration of the cylinder if the rope is pulled with a force 30 N ?

(a) 0.25 rad s~?2 ‘(b) 25 rad s—2 (c) 5 ms~2 ‘ (d) 25 ms~2

mssdlar Lwir HeQramy Qalgss Ao o-drer smhm) dfleueLdng. @806
—_ Bapey ey Quui. _ ,
(=1) Qeuiuflened rmm (<) @@uuu ufwrHolder

(8) SipssID LTI - (FF) UG T

When a cycle tyre suddenly bursts, the air inside the tyre 'expands. This process

is :
(a) Isothermal (b) Adiabatic »

(c) Isobaric (d) Isochoric
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geQerneny Frren ani. Quisagoms Gop@arddlpg. Ganarer sflres sapenm
ST YRATINTY .

(<2} macfen HensGousd wpmid Geustd wrhled]

(<2) msatan apBHidsd wppid Ceustd wirhed

(@) gsaflear ReveCausid wHOID APHESD WrHled

(M) gsafler Causid whmb phidasdHen erasrwdiin wirhed

If a particle executes uniform circular motion, choose the correct statement.

(a) The velocity and speed are constant

(b) The acceleration and speed are constant

{c} The velocity and acceleration are constant
(d) The speed and magnitude of acceleration are constant

smaeild srre gatpiLer 10 £.4. Heop Geemssiiulerarg. Fmeredld syrs
Were wigd gendlar smarled Qurmssiiul Bererg. Wear o wisd srams &G
eSlpCurgl, srme ST erei@ :

(1) 98 N (@) (@) 49N (%) 9.8 N

An object of mass 10 kg is hanging on a spring scale which is attached to the roof

of a lift. If the lift is in free fall, the reading in the spring scale is :
(a) 98N (b) Zero (c) 49N - (d) 9.8N

Egrer sW€m @erm ‘m’ gﬂmmu;m Blevewrear 2jenwlndel(mbgl @&m@ggn&;g
deru@dng. Sppeaie a6 Gnssoe iy gHussILGEDE. &

oandadmng Qbs il CubaupbGurg Ceus mwgurr@ (v) EPEHHS 2 wWiFh
(h) eow QuIEHSSFH STL(HLD GuUenFLILLD.

vA v4

(1) 5 >h (<) o >h
vA : vA

(&) 0/ >h - () 5 >h
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g

A uniform rope having mass ‘4m’ hangs vertically from a rigid support. A transverse
wave pulse is produced at the lower end. Which of the following plot shows the
correct variation of speed v with height ‘h’ from the lower end ?

(a)

LA vA
) »h (b) 0 3 B
vA : vA
6) s >h (d) o) . >h

eréuefls Qeuafliliym eferswib QewduLrs Gurg, @ie] Haaulgidrer Gurmer WBg
Qeweu@b gueyblee 2 rmie efansuler Loghhq b

(1) & (<) s mg (@) py mgsin® (7)) p, mgcosd

If an object is at rest and no external force is applied on the object, the static
friction acting on the object is :

(a)

Z€ero (b) pg mg (c) png mg sinbd (d) pg mg cosé

wrpul L G&EGEalGU urly Garare @m doLwblLs Gerde, Srrag
20 Q.18 @mlar AL aperer b Letaflifld 1 ms™! HesGaussdad Qeadpg.
1.5 ms~! HansCeusgder Qaergud Lerefluder @muilen eflLrerg (Qa.5. @) :

(21) 8 (<) 16 () 24° 5k (). 82

In a horizontal pipe of non-uniform cross section, water flows with a velocity of
1 ms~! at a point where the diameter of the pipe is 20 cm. The velocity of water
1.5 ms~! at a point where the diameter of the pipe is (in cm) :

(a)

8 (b) 16 (c) 24 (d) 32

[ Sgpiye /- Tumn over

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

6

én x oFengl o ﬂun@g@ 60° Goramésle

STERTL. LI[hy 1BFHEIL
12. ‘m HeopQarare. Lbg qearm u Gasgs b Hensuiep

Qeany seuQprendler Bg B Curgeme ghubsHHDS. X o)
SLUpSe o bs wrmur ererer ?

\‘.\
/1/
R
v -7
1
1
60° !
(é‘l) Apx= —mu,; Apy:o (,@c‘b) Apx= -2 mu ; Apy:
(&) Ap,=0; Apy=mu () Ap,=mu; Apy=0

A particle of mass ‘m’ is moving with speed u in a direction which makes 60° with
respect to x-axis. It undergoes elastic collision with the wall. What is the change

in momentum in x and y direction ?

(a) Ap,=-mu;4p,=0 . (b) Ap,=-2 mu;Apy;Q o

(C) Apxzo N Apyzmu (d) Apxzmu x Apy:
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a ’
13. Spssar Qeansefldr b5 ufbrardeas QubmeTer @bk eTeysEr :
(1) eflons ppID Hpen () Hpuyeilens wHDID HDD
(®) dmuyeiens wpmd Hper () ollens wpmid HLieilens
Which of the following pairs of physical quantities have same dimension ?

(a) force and power (b) torque and energy

(c) torque and power (d) force and torque

14. Guas b5 @aussiulymsch UssssHa 85 Coms Qsgiss b CsmEsHsl
ellengerwl, ergliéLswed oflens eremy smdleame, Bl Laflar aparpmbd efdliLig
@i Gswe efenswns (action force) ereuclansar s sme Coudmid ?

(<) yell, ussssfen Bg Qeauggib miijeles |
(=) Usssb Leiluer LSg,j Qeqsgid FrriLelens

(8) usssb GCuaslanis QFqsgin QsktiEGss alams
() Cuwens ug,gasgﬁehﬁg Qequsgid QstiEss) 6)9]66)&

A book is at rest on the table which exerts a normal force on the book. If this
force is considered as reaction force, what is the action force according to Newton’s

third law ? |
(a) Gravitational force exerted by Earth on the book..

(b) Gravitational force exerted by the book on' Earth.
(c) Normal force exerted by the book on the table.
(d) Normal force exerted by the table on the book.

15. flevew evasafle, Qb é@n. &5,&)@5 2ABES dirssamaineG QeoLCuwrer
Qgrenevay : . tss
A L A : A s
()7 .. BN @) (") »
In stationary waves, the distance between a node and its neighbburing anti-node
is : ' o

3\ R 8
{Q): miiney St (d)

pl>
N | >

(a) (b)

4 .
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LS - 11 /PART - II ,
GBI+ Spsadrcupmidr aremeuGuignd gy eflatrésEns@ cllenwelésa|b. efeorr
et 24 ~&@ SLLmuwnss cfeniwiaidse b, 6x2=12
Note : Answer any six questions. Question number 24 is compulsory.

16. ufwrenr uGUUMLele aupbysar gGaaid Greamgmen 6r(HSs.
Write any two limitations of dimensional analysis ?

17. yelllish eNHu® Geusd eratpmed cremesr ?
What is meant by Escape speed in the case of the Earth ?

18. @@ @sGuél 900 MHz ifliQeudr 2 mLw esmasmer QeaualledBHng. osGué
Garyrd ppabd Qeuallel@n iaauldar e Berd srews. ‘
A mobile phone tower transmits a wave signal of frequency 900 MHz. Calculate
the length of the waves transmitted from the mobile phone tower.

19. evlloeuren-Guralev@wer clfews sams.
State Stefan - Boltzmann Law.

20. Hleomepowid - GuEFLIMIESE,LD.
Define centre of mass.

21. Frenaey wHMID FIHD e QWESD TEIHTD eTemaT ?
What is meant by periodic and non-periodic motion ?

22. BCLAU uamler an9s elfenwus sams.
State Hooke’s Law of Elasticity.

23. flenevod - euenWIMEGSH@|LD.
Define Inertia.

24. A wpmitb B eremp @ram® @Gruile) eueimgser @enanurer @rudc ureguidr Cr
Heavsuller flpée Cprédl wafléE S0 8.8 erem HensGeussse Qe flermen, Brude
euamig seflen FriLs Sang Cousmsamerd Grams. :

Consider two trains A and B moving along parallel tracks with same velocity in -+
the same direction. Let the velocity of each train be 50 km/hr due east. Calculate =

the relative velocities of the trains. !
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L) ~ 11/ PART - 111

% o TR, v ) . . ‘ i : g :
@;sﬂuu osremeuloweyn L0 n..‘fﬂexmrm,e;,(gq})ah({], ellentweflgaa|n. ciler oream 33 -6

Sl clawalldsab, 6x3=18
Note : Answer any six questions, Question number 33 is compulsory.
25. B alda epem @) cillmenerrd gumis.

26.

27.

28.

29.

30.

31

State Newton's three laws of motion.

TRELTTE Qg 9.1% 10731 .4, aayb HepyLaid 0.53 A @rssLgyb
2 Lameilear ai Ll urepudd &b g, ereslgreflar Caren 2 psib
wrg ? (reslyraflar HansGousid v=2.2x 106 ms~1)

An f:lectron of mass 9.1x 1031 kg revolves around a nucleus in a circular orbit of
radius 0.53 A. What is the angular momentum of the electron ? (Velocity of
electron v=2.2x10% ms™—1)

aufl&sh @liib whmbd sipHs Ui Caugu®sss.
Distinguish between streamlined flow and turbulent flow.

Qurgsls Wanpser eremmmed ereen ? @UIAMPSEET GTEUaUNT) &DEHMD ?

What is meant by Gross Error ? How shall we minimize it ?

siwansGareflen uhp@éaTar Caramalemwl FmHeil&se, L.

Derive an expression for Energy of Satellite.

&lenL_sger ﬂmauﬂéu erifl@umapeilen LITans g(h LFeUEETWILD 6T e s [Hs.

Show that path of a projectile is a parabola in horizontal projection.

2 bl DO GUES phmé @ent G 2 érem Ggm_ienus cupellEEab.

Derive the relation between momentum and kinetic energy.

[ #muiys / Turn over
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32. gafl exsdlien elflsamend me.
State the laws of Simple Pendulum.

33. ¢ CGawu Quidrn eigar swHd Hepefer Curg 500 J Qautiugens et
epsHNmbs Qubms Qsran® ¢m GO L Caumaamyu Q&g Generm 300 J
Heuliugens @wanss (Qeutiu gmidss) Qar@&dpg. @bHupsameansafieiig. 3ihS
Qeutiu Quindlrsder gy Hpeeas srams. ‘
During a cyclic process, a heat engine absorbs 500 J of heat from a hot reservoir,

does work and ejects an amount of heat 300 J into the surroundings (Cold
reservoir). Calculate the efficiency of the heat engine.

U@ - IV /PART - IV
GPLY : Sjemensg elamssErdEEh el welsseb. ' Sx5=25
Note : Answer all the questions. :

34. (=) s @andlen Aeovaws AmLins Hpaar igar bt euflursed, STy HE
QeniGSsTaaD QFoad SiFenaL Qurr@g,g,g,;mrrm gwenur._enL edeufl&seyLb.
S|6060G|
(<) srwrall erenmmed ereman ? e siemwliy whmib Colener Ay elgsms -
eSeuflsaab. asrwraflenuwl] pwerUHigE @m&a;a;smsuuﬁ]@sr =15 6l e e en ewT
ETEUGLITI <SHemLIuml ?

(a) Derive an expression for moment of Inertia of a rod about its centre and
perpenchcular to the axis of the rod. '

. OR

(b) What is a Sonometer ? Give its construction and workmg Explmn how to
determine the frequency of tuning fork using sonometer.

35. (=) BLAwWDHD Corged erempmed erener ? Wy WL Swpm Cursede grhu@id @Luasa;
< HNe QUi GsTer FLOGTUTL_ 6L &(HeN&E&aLD.
RESTATNE:S “
%)@wa;a;aﬁlu_lm Qararensullen Sjgriueule Qeulinblaaamwil L) a‘:ﬂrﬂmna;

cler&gayLb.

(a) What is Inelastic collision ? Derive an expression for loss of kinetic energy
in perfect inelastic collision,

OR et ,
(b) Explain in detail the kinetic interpretation of temperature.
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11 6417 §
{ o . ‘ . '
(=1) B e @Wﬂﬁ‘&l eilflenws eNfeurrs elend;@;5.
SlV60g)
& san_fleugparer Gargeneanani efleuflGaeyi.
about the Newton’s Law of cooling.

Describ e
scribe the method of measuring angle of repose.

(<) *DEGS Camamgen
{a) Explain in detaj]

(b)

(=t) QeugLr Sa(hgedl et P&EGaran eflferw eNflours eferdsey .
: 36060
() e® @EQTTUQGET WPCw auf&di @lLgded em eNemmgule uryb Sraussder
HOL@ISETEr Umiaver swearUm’ e g smedasa, .
(a) Explain in detail the Triangle Law of Vector Addition. "

.OR

(b} Derive Poisc?uille’s formula for the volume of a liquid flowing per second
through a pipe under streamlined flow.

(=) e Qgnenoeysemer BeaéEin w&Caram 1penp wHMID Crmi wenp LnHMlE
GIINIEICES |
S{6VEV G
(=) yellufler sl QUTDSS!, & ereucumy WIMUELD rarLms elardsayib.
(a) Write a note on Triangulation method and radar method to measure larger

distances.
OR

(b) Explain the variation of ‘g’ with depth from the Earth’s surface.

-00o0-
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